HSSC CET Group D Question Paper 22 Oct 2023 2nd Shift Shift

1. frafafam 6 f& ) o= amiva i o men | 0. Wil g #1000 b Territories among

S TS § 2 the Tollevoc daipe ol somon High Court ?
(1) faer sin s iy Hihiwg meet 1) jfaand

(2) Tlmﬁah‘{w (2 Eajustlih) i bgarat

(3) Yema sf efeam L Punfidiid Hagyana

(4) ht'_'(:ﬁafﬂff i Laellf sl 11EfYana
(5) I A W A i) Mt sHeampidiH
1 L | e

- . g : 2, Tt workd ol 11 Biganism is known as :
2. wiwa S (fofan smifrm) & s e s

(1) &=
A = 1) Madecot

(3 iy Al

) ' (“e) b CTTRE LR IR e
(5) S T o Awa

(1) Abiath
() Ml
-

a4, What el Hi vpen is present in the
3. m'ﬁl mﬂﬂgﬂmﬂuﬁm&? nlanns il
[1] T8% l” JH
tzl 21% 'JI -*1
(3) 3% (4 {"
4 71% o) y it
(5) =R = A I!“] SEa—

4. TrofatEa 6 A 90E % sifan 709 7002 59 9 2 4. Whoswmong the f-llowing was the last Mughal

(1) == Fmperin oif il
[2. qFAT [1) ALl sigekt
(@) i I b

(]| lalittiplt

qﬁ‘ 5 I“ atisit e sl Zafar
5] e ol A S B i

(%) Head pdrepipdbed

5 TEPIPT 1 %A A7 w7 5 Whal is 1 fuge salinity of an ocean ?

(1) 75 v gfa v Uit e fep thosand
(2) 20 v ufd #An @ gl per thousand
(3) 35 wm yfa e . (4 gt ¢ Lhousand
(4) 25 v gfa v (Al FHhousand
(5) IR ZA e f Mol g
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6 oA i stwdvfin wiin feom fm fra v w8 | & it Rite Festival' is celebrated
(1 1 4 e | 14 Fiinrnt an which day ?
2 14 el o i gavember
| ] ‘B L L Lwninrs
[3' 4 1'1' 4 fanunry
(4) 14 fawia (R f A 1 1ecemiber
(5) W TE o A 13| bk sitempteed
q. W YA fraifaa e w9 e e o b t :'," o g T.r'”r!.m'ml' RS
o o= F=afieol o
(1) mmfffﬂ] 1y Lbi) v tembers (Panch)
(2) HA 4] . SHipdtich :
(3) #fm I hptetary
Idi  Phithcitlors
["‘] "TF‘E o . lini bl .,un”-“!rd‘
(5) S 7% 2 awa
n I ey ymnr was the 7th Ecanomic Census
8. 71 sniviw semoEn e ek feafaa ol nd ) SULLUEEE b
(1) 2021 LUN-Ld
{2} 2018 i 4
13’ 2“22 | ” I
(4) 2019 LU L
- . i1 Ml attetnpled
(5) 39 % N AW
. . B Whib Wi Hie sf the following is India’s Central
9, I'~|=|I5|iﬂllﬁﬁﬂ?-‘ﬂ‘mﬂ’ﬁ‘*fl’l m-‘h'l "l.“:"t. T tip 4y r“!JHf}l'l, “-'hifh ﬂﬂntrﬂil lhE
=l Wmﬁ’ﬁffﬂiﬁﬂ a1 feptam o B 7 MuHLidts pinlicy of the Indian rupee ?
(1) v fo @ (rpn) ) Phsrtie Bank of India (RBI)
(2) fasim dmn favm (DFS) Pt Department of Financial Services
* {Tl
(3) T o fin g e R 'l Mitional  Bank for Financing
(NABFID) 1t * “structure and Development
(4) A T2 A (Sse) H) BrID)
- Tl s Th.”_lk_nr Indiﬂ SB'
(5) R T T W I Myl attempted [ l
10. foefefam & A fam e a6 grsivg am wloin # 7 1. Bulivied 18 tie ancient e ol i ok
(1) @2 sfzm "I" kit dne state 2
(2) Al : : 'i'------r.-.| Odisha
} 4t Mad
(3) FATF X I Maduy
- I Ridbiataka
(4) =mA I Bgion
(5) 3 A% % 5w | ) b itemped
TNAVH / E4 2 vl 6 e 200 BPACE O Hoddjony oimmee e
LLLLES T B !h"H Flﬂﬂ 3
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11. FA-M mgﬁmfaﬁ 7= VA LAk G T4 & A 11. Which St rﬂrl.l’tl!]i:m Territory is known as
‘Crown of lndia® ?
i v 2 (1) Himachal Pradesh
th ‘ ,ﬁm () Jammu & Knshmir
(2) ﬁ'ﬂ@m (3)  Punjab
) - (1) Delhi
4) fe= (5 Mot attempted
(5) I E T W
: 12. How many Fundamental Rights are there in
12. VGG SfawE § 76 fam ifas s §2 Indian Constitution ?
(1) +=m | x] (1) Seven
@ 'Sb“'\ Tt\t&hﬂ (2) Nine
3) @ E'LU.“"" (3) Three
4) (4)  Six
(5)  TREE I (5) Not attempted
. - . “Nati iveli ission’ has been
13, ‘Hvee wm eEee o mAmam f o xz:mﬂ :5“:'“' AT
(1) e e aee (1} Deendayal Antyodaya Yojana
(2) Fw=gm (2) Annapurna
(3) WS O e A (3) Pradhan Mantri Gram Sadak Yojana
(4) TSI A e (4) Pradhan Mantri Awaas Yojana
(5) =9 = 9w {5) Not attempted
14, % 7= frfafma 6 & fem mm W ﬁlﬁ-jﬁt? 14, Em_:t’ Dance is a fﬁmul:'la folk dance form of
’ which one of the following States ?
- 'E‘-Tfm (1) Uttar Pradesh
(2) MU (2) Andhra Pradesh
(3) TEEE (3) Rajasthan
(4) v vA FwYET (4)  Jammu & Kashmir
(5) =W AF =N Awa (5] Not attempted
15. 77 yum v vy @ fawia AfesEl & A A | gg Who was the first Mauryvan ruler who tried to
ST A S e a7 ?nkr .hi.ﬂ message to the people through
- mscriptions ?
(1) W (1) Chanakya
(2) -'I':_’I“ [I'Jl Chandragupta
(3) =“ME (3)  Ashoka
(4) fazgam () Bindusara
(5) = A 20 A ) Natattempted
TNAVH/E4 2 g @ feap 2ena | SPACE FOR ROUGH WORK Page 4
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16. ieT-1 3§ €)1 WS & W HEw-10 % M | 16 Match structures given in Column.T with,

mmﬁﬁﬁml functions given in Column-II.
wiem-1 11 Column-1 Column-II

(a) (i) =Tt (a) Stemata (i)  Absorption of water
(b) wmEEH (i) SRS b)  Xylem (i) Transpiration
(€ FEI= (iii) @ = # iawa () Root hairs (iii) Transport of food
(d) UEERE (WEOR)  (iv) W@ W e (d) Phloem (iv) Transport of water
el faFes =1 =79 =it Choose the correct option.
(1) (a)-(i), (b)-(3), (c)-(iii), (d)-(iv) (1) (a)-(ii), (b)-(i), (e)-{iii), (d)-fiv)
2)  (@-h), (b)-(), (©)-(iv), (d)-(ii) (2)  {a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
(3)  (a)-[i), (b)-(iii), (c)-(ii), (d)-(iv) (3)  (a)-li), (b)-(iii), (c)-(ii), (d)-(iv)
(4)  (a)-(i), (b)-(iv), (e)-(i), (d)-(iii) (4)  (a)-Gid), (b)-(v), (c)-(i), (d)-(iii)
(5) SV & = (5] Not attempted *

17. fretetad 5 F - Wi €2 17. Which of the following is an antibiotic ?
(1) EEEER (1)  Streptomycin
(2) TS @ Alcohol
3 = (3) Yeast
(4) Hifzgn e (4) Sedium bicarbonate
(3) I TE oA = (5) Not attempted

18. Hdiea =1 gaivE 3K qE 71 v frefafad | 18, Advance sunrise and delayed sunset is
fafsossnuamE? because of the phenomenon of :
(1) TV I AEH e S {1 Atmospheric Rcfractm.rn of light

st AT (2] Total Internal Reflection

@ T : P (3] Atmospheric Reflection of light
Pl M : (4) Scattering of light (Tyndall Effect)
(4) T v (fEsE ) (5) Not attempted

(5) = T =M =

19, Select the non-cormmunicable disease from

190. frefafas § & F= =@ =g T 7@ €7 the following :
(1) ®&= (1) Cholera
(2) @ am (o aiE) (2) Chicken pox
(3) wafEw (&) (3) Tuberculosis
& (4 Diabetes
4) m
- s (5) Not attempted

(5) = A T Awd

20. Malaria is caused by :

20, W faaa v 7

|=|q|EI ‘l” Virus
:;] FAR (2)  Fungi
I b iEEIE I3 Protozoa
S m (1) Bacteria
{I;} 9 1 A (5)  Not attempted
) FW I
TNAVH  Eq 5 el @ fere 22t | SPACE FOR ROUGH WORK Page 5
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21. freteh @ #r m?:ﬂ'ﬂ g‘lﬁ"ﬁ fime? 21. :"f,:i;:,f::t';"“hp following does not bhelong
(m fem (1) Deer
2y 9H (2) Yak
(3) e T {(3) Mountain goat
4 fem dgan (= aé) (4]  Snow leopard
() I A & (5) Not attempted
22. ﬁﬂl | SR frreafefm & fra Wi o 82 22. The dough of bread rises because of :
(1) 9% TEAH - (1) Salting
(2) EER (TR) ifyremsil # 716 T | (2) Growth of yeast cells
(3) e forE & ww (3) Fine grinding
4] Tﬁ 3 (4) Kneading
(5) TW T = {5) Not attempted
23. FofefERd AR ot H'FQ'&EI fAeirTTira T £ 7 23. Identify the non-biodegradable item from the
(1) FFFf= following
o L D
©) Bﬁiﬁﬂiﬂ (3] Woollen clothes
@ = (4) Paper
(5) RN el [5) Not attempted
o6 W Skl e wiv e L 24. Tiger is a _ because it only eats
(1) R meat.
(2) TErEAl (1) Carnivore
(3) wAE (2) Omnivore
(4) TR (3) Cattle
(5) 9 & H9Ea (4) Herbivore
(5) Not attempted
25. Y3 WA AT T F fero, Iugw e €
AT T 7 76 Fen a e v 28. Pure gold is not suitable for making jewe]ler
i W o "
Sl ;__ PP S i\l :1;:?:}}1?;(1 fl::rrll making urnnrmrmﬁ._
:;: m:: (1)  Zinc, Silver
P 2 Silver, Copper
@ i i ig_: Muminiml':l. Copper
@ W'W (4) Silver, Aluminium
(5) SR e (5) Not attempted
TNAVH/E4 ¥ BRI 5 10 7o | SPACE FOR ROUGH WORK —
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26. Preaferfem Fﬁ'f-ﬁﬂ " 26. Match the following :
I { a0 ) 11 { uard ) I(Objects) Il (Materials)
(a) (a)  Shoes (i) Paper
(b) tnl A M) Table (i) Steel
o T?IEEFF / (i) (c) Notebook (iii) Leather
@ (v) =@ @ Tumbler i
gﬂﬁmmmaﬁhm Choose the correct option.
(1) (@), (b)-(i), (c)-(i), (d)-(iv) (1) (a)-(ii), (b)-(iii), (c)-03), (d)-(iv)
12) {al-lfiir, (b)-(iv), (e)-(i), (d)-(ii) 2 (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
R ERRRaNs
el i o (4)  (a)-(iii), (b)-fi), fe)-(iv), (d)-(ii)
(5) mqﬁﬂmeﬁnu'}.\, (5) Not attempted
27. W 3R FEE T W U2 N, fai o wmad § = _
Pt Ao i a7 o T
m *
2) =S (1)) Trees
(3) S T (@) . Shrubs .
o (3) . Climbers
(5) 9 (4) Herbs
(5) Not attempted
28. wa et fusm | g i vaa weera e € @ OR
m feamt & &1 fsg 0 ¥ v | waifys | 28. When a white light passes through a prism, a
ﬁ?ﬁmt? spectrum is observed. Which colour of light
. bends most ?
(1) 1IT?-" (1) Yellow
(2) Fren ' (2) Blue '
(3) & [3) Viclet A L]
@) - @ (@) Red '
(5) = = &= | wa (5) Notattempted
29. A /e € Wf( i A 29. The blood has which fight against
FEA T F fars GEGAEaid] germs that may enter our body. _
(1) @eeem (1) Platelets
2) A T s (2)  Red blood Carpuscles
@)  foirsf (3) Haemoglobin
(4) i Tam o (4)  White blood Carpuscles
(5) e T = (5)  Not attempted
m_g.‘ — a7 @ fero z2nrel | SPACE FOR ROUGH WORK Page 7
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30
2 Fh%ﬁ‘
e U
o 21 98
a) ﬁgﬂﬁﬂ?ﬁmﬁﬁﬂﬁﬁﬁﬂ
B e S 5 R i
) =& =hl/
3n 30.
(3) HW . For the
aﬁaﬁ'ﬁ ﬂﬁl of 1€ pro
(4) which i cess
EG| () requi ustin
(5) =W Oxyge rired ? g of Iron
7 ¢ 2 Wa n only thepre
31 &1 e (3 Vatera ' JuCRE
» I Dlt n(i Oxv :
50:;'1;[} e 4 W o Ve hoth
a
T 4:\'3..45 ﬁﬁmﬁ : (5) ND:Ef only
m{taﬂ?ﬁ“ t T*l m'mi ] ™ R
(1 oo o ol - < Bunal
) 40 Wi H%? ST :m ther walks
@ 50 , F-gfE mE A Then R
@) W, I How ar o gl i
60 HieX - , smrtinr and in right a s back t East. F
‘4} 3 ¥ 5\# i Y l1 E Point D“-hich dnd t"ﬂ!ko‘“lards \._I"rru.[n
0 e, Yo ) 40 ; irectio s 40 est.
(5) e (2 met nisl metre
5, TD 1
mqﬁ-&m F. I S0 m res, North e f rnh?
32. il & =) 5 etres, No I )
' EpE| " (4 metr rth-Ee
.‘EI - m‘ﬁ; bo -I 30 m es, East ms
mmﬂ i %mq@ﬁ (5] Not e Rkl
-q-q"‘ almqﬁ: atte 1
1 mem Hmﬁmﬁﬁm 32. A i
1 2 P ﬁ H&Tf ﬁ-q-a: ™ ju set of E
(1) 3 ! 0 g T4 AR n mbled English |
3.5 4 I umb order etters i
[2 | » 2 C e " 5
) 3 4,6 5 accordi rs 8 Sele is giv
’ 5 6,1 6 in o th ct th given |
(3) »2,6,4 E gly wil at t 1E CO elow
3,4 4 1 L 1 form e le mhbinati in @
(4 4,9 1 g 2it 1A
l : 2 P A TN ETS hion
2. 1,5 0, 1 2 1 ecanin & ATrA of
[5] P I4‘ 3 “I 3 0 Erul w 'I"L!;n:l!..rE
m"‘ﬁtm'ﬁ 2 3,5,2,4 4 5 C o
G ) " 4,6, i
33. ﬁ‘]'rg . {3] z'a!2r5141 $“L1LE
o s ' o
4,27,16 AW @ 2 5,26, Lc T
(2) i +36, 2 ' : N“‘atl k. oLCE
343 , 64 tempte .j:"
(3) V729 33 d oL®f
) . » Find the .
12 4 missi
(5) Eﬂ:qﬁ “-]2?, 16, Iislr;g term in tt
3 , 36 1
TNAVH/E4 o (2 216 4% = -t':.1ET e
343 1 33 , 129
(3) . I "’{1' sb
T® B 512 | L
& (4 \ v 3
fero vam= ( )12
5
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e FAfed F2m H PHYSICS' W RIAUKEL' | 34

341- - ['n : - ¥ £ n > g =)
@ €, @ ‘BIOLOGY’ 1 3 e A certain code language PHYSICS' iy
famn - FI H FH Wrilten as ‘RJAUKEU’. How will ‘BIOLOGY' be
fgaan ST : Written jn that code ? P
(1) DKQNQIA B DKONQIA QHBIEE
DKQOQUA KONQU 16 R1sna 3 1Y @_5‘:_)
(2) (2)  pKROOQUA 19
) DKOPQUB o = (o AJAC KEUV
(4) DKQMOIB 14: :”\.U;,Ejr: i A
(5) I & A - 2 8IS 12 'S 118
(5) Not attempted
o g PkOMOIA
C, D, E @ F 3 &l 31 & -

45. ,q,‘B - it hs flzm Ea?'qﬁﬁ:q 35. A, B,C,D,E and F are standing in a row facing
'E'@'En a‘l%}.—-lh HEF IR IHFRERN E A North not necessarily in the same order. E’
paad s B R W o owE and ¥* are in the centye, A0E A anc. ' ate
AR AR AT B H OF °F 3N F the ends. ‘C' is standing on the immediate
FiE ) . 3 ] mﬂ:ﬁ'&gr?? left of ‘A". Who is standing on the immediate
(1 right of B'? e F
li: E M D B DEE ¢
[4 = 2) cC g D FE c A
() . % B > s
(5) SOt el & =ed :4; "

3) Not attempted

36. O YA 3 39 A2 A frewd 1 3fe i fenm §) fam
Y FE w1 /e Hd BU 9% F H/H 7 aen 1 36. Two statements are given, followed by two

fim & i 7 wdtd e ﬁ. foi =i f& = '*'FlTF..l conclusions 1 and II. Assuming the
o fou U FyEl & SNUR W AT w8 fEem statements to be true even if they seem to be
e at variance from the commonly known facts,
¥ & ! decide which of the conclusions logically
TR F el Tend (4 =1 follows/follow from the given statements ?
EEAGIERSIE] (4 w Statements : Some flowers are roses,
o - L it LEIE] Wil Some roses are red.
0. 9 %A e 2 Conclusions: L All roses are flowers.
(1) ‘&:‘Gﬁ ﬁ'ﬁiﬁ 11 e t| mo. Some flowers are red.
(2) forerd 1 3T 10 a1 frrma B (1) Only conclusion II follows.
(2) Both conclusions I and II follow.
fed faFaa €1

B ??ﬁ 13 -'*Iﬂg (3] Neither conclusion I nor II follows.
(4) el T 1 fAaerdl 2 | (4) Only conclusion I follows.
(5) = E & = Ed * (5) Notattempted

a7. ﬁN’FI =1 994 'ul-ﬁﬁi'l'l!_ | 37. Find the odd one out.
(1) =em (1) Pen
2) wm (2) Eraser
(3) Y= (3) Book
(4)  fam (4)  Pencil
5) TR T = (5] Not attempted

WH:E.; e L L /SPACE FOR ROUGH WORK Page 9
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38.

RS MTE
/A RS,
s N fan wwn

v wftamn ¥ ot wae P 0
st R w1 TLOTP T
=@ Q) Rt T

a8,

39.

41.

™, Q% R, S'and T are five persons of a fam;,
T and 'R' are brothers, T'is uncle of '()°, «
is the son of 7", 'Q"is the sister of ‘R'. How .i
™ related Lo 'S'? .

{1}  Father

Pr Cousin

(3)  Uncle

(4}  Brother

(5} Not attempted

If every second, fourth Saturdays and a
Sundays are holidays in a 30 days mont}
beginning on Sunday, then how man;
working days are there in that month ?

(1) 21days
(2) 24days
(3) 22days
"[,.41‘ 23 days
(5) Not attempted

Choose the pair of words in which the words
are related in the same way as in the given
pair of words.

Bachelor : Spinster

T  Horse : Mare
(2) Nun : Sister

(3) Tutor : Teacher
(4) Lady: Woman
(5)  Not attempted

Harish bought an old Scooter for # 4,700 and
spent ¥ 800 on its repairs. If he sells th
Seooter for ¥ 5,800, his gain perce

ntis

B i

(2) 105,

() 129

|

q 4 "

(1 7

() Not attempted

danm e ?
( fom
(2) sy Ra
(3) =/
' @
(5) I T & e
30. mmﬂﬁmmmﬁﬁﬁaﬂm#ﬂﬁﬁﬂ
v g, < wivan an i fEER F a9
738 wErs | faas wrfan €7
m _ 21%s
(2) 24f= -
(3) 22f=
4 23fm
(5) T 6 & =l
40. =R Vm-TE W 9T w1 fow v T wan Hafim
¥ fe oo m ym-gm § §)
wfaafen . sfaafem '
(1) rE:ad |
(2) wEEfEE . aes
(3)  =o-forrs ;. fonerw
4) afemn :
(5) 3 7z WA
41. miw&m“}mu,?mﬁaﬂmﬂnm
mma'ntauuu'-ifwl 2 o g v M
7 5,800 ® T2 0 T9E =Y yfqum § -
: g
(1 Syy% e
(2 100%. é"%.'
(3) 12%
;. qg\;.
(4) 4,% =
(5) W -
TNAVH/E4
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TF Tl d, vl W wwn ah ey Y ey o

42. 12 | ool the Faee
y i o ( 1 (e ratiee ol the number of boys to
4:5 % ST EI W 100 B vpe vy ) ik fitsnnh e of gitls 1842 5. When 100 pirls
ﬂgaﬁfﬂﬂl? :_TﬂTﬂﬁTi‘l LY R R ERTE LR | 1 i |, the ratio becomes 6« 7. How
(1) 1500 Wibid | [here in the schaol P
(2) 1200 T Y !
|:3. 1“““ 1Y | eapdbi é ) B ’ll’ﬂ
["” 1800 R AT R KG
. 5=
[51 ﬁﬁ&:ﬂ Ti'ﬁ-"-d |” ||.|1HI I;.L"!:Jt:
14 b atiempted -
43, T 3T w0 ATEA 460 W Ry wfy gy ofard
a1 9En 4 15% A &, @ e N osma al) | 49, Y s of @ rectangle is 460 sq.m. If the
e ek R ottt {3 1o%e more than the breadth, then
: - Wil TRl Iln lollowing is the breadth of
(1) 26 HIE e (eelangle 2
(2) 34.5T f‘l}\ (1) #H jnehes
(3) 20 T [§\. 3 dfa metres
(4) 15 6 13 H melres
(5) = T & A ) 11 HIRHES
I [{ih allempted
44, V= ofe v FwE w15 0 g e o _— _
form 301 7 2 90 93 H 20 forr A § opufan s | 940 A widd fap do @ jobin 15 days.  His father
A . B g liben =i days and his son finishes it in
=01 25 77 9 g = e S A e i e How long will they take to complete
w4 A, TR EA g e we o) (i il 1) Hhey all work together ?
() w6fm (1] eeselly bdays
(2] =M 6.4 fea [EI—E jusimately 6.4 days
3 7fa ) T
» o 4 (I feuit Hhan O days
VR = 7
& n?-q 1) Mk aljempted
(5) =7 =1 & =
) / ' 3
: " AR, 11 1] 2 bad 7 VIOEYD = &% + 141, then the
9. W 145627+ Ji089 = x* + 141 B, WA ol iy 3>
b 51 19
ol MR o e A vy
N 545 T 30
(2 25 %
13) 5 Rl ! (= DI}'\ M
@) 125 W e - 1’1 “l
5 s . 1" Fal s e gt II._IL
J IO | - [ pIE
val § WEK - Page 11
ml:l—ré—_ ztﬁw?{-"?;'if-n:mm.fnl'ﬂ" AULLLLLLL -

\ﬁ S5 1 N
{ g
'15
1‘1 -
i b
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46, 14,0, 3, 78 T A 4-FB TH A g 4 | 46, The greatest 4-digit and the smallest a.q,

tﬁﬁ‘.ﬁ‘-ﬁiﬁ '-'TT_?ITQ‘ T ? tu?‘;ﬁ'_u ':|.i|.'-‘-ﬁ -.-FF am ﬁ “1"“!“-1-5; If.-:.:—nl'“_u;] h_\; :I]{;:i ?:;El;:r‘ :ilﬂi T I'l-...,_.I -
4 ' ligit used only once) a _ ely :
wmEmE) dig

(1) 3740,3047 (1) 3740,3047
“(2) 7403, 3704 (2) 7403,3704
(31 7430, 3047 [ .'il 7430, 3047
(4) 4370, 4307 (4) 4370, 4307

(5) I el T =wA (5) Not attempted

47. The speeds of three cars are in the ra

47. TAFRFMASTM2:3:4 81 Wl g 2:3:4. The ratio between the time taken |
W, T EA g e T wwE § e g these cars to cover the same distance is
(1) 4:3:2 (1) 4:3:2 TR i
21 4:3:6 2)° 4:3:6 .
(3) 6:4:3 A 6:4:3 ¢ “w2a 5_1'
M) 2:3:4 4 2:3:4
(5) ¥ T T = (5) Not attempted

48. Tz =E uf: lﬂa‘ﬁ'ﬁ'ﬂ,"ﬂﬂmt MAMEm =s | 48.  Ifa sum becomes its double in 10 vears, the

TR the annual rate of simple interest is -
lpg —— Loso
(2)  10% 21 10%
(3) 20% (3) 20%
f4) 8% 4 8%
(5) =W T w0 a9wa 5)  Not attempted
52,
49. 50 FENHl w1 WA 38 1 Az A wensi 45 aa | 49+ The average of 50 numbers i< 38, Iit
55 1 721 Tz wm & A 7= Hensi w s a0 ::":n'b'fm 45 and 55 are excluded, then w!
- num'r.n:fg ;he average of the remamn
, - 1) 37 = (1 a7
[2) 37.5 : A2 375
{3) 37.52 (3) 3752
(4) 36.5 (M) 36,5
(5) AR ¥ 9w (5)  Not attempted
TNAVATEA ~ % @l i fere zema / SPACE FOR ROUGH WORK g TNV
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A 3 7 63,000 T T TF TR T faan o
sy e R 1,08,000 T FB A = A W]
Fo el afe = % 3§ e A aua a2 @, a9
fra T & A B A TEE W2

50.

(1) 4
(20 S
3 6
4 3
(5) R TEl o =R

i3 fafim dEmsti F1L.C.M. 120 €1 3 gemnsi

gl G s LR
==l ¢
1) 12
@) 24
(3) 35
@ 8
(5) =W E o uwed

7 28,80 WA fE.m, =t 3 2 22.80 wfA fem. @
waa R wum 1 foerg @ @ifs o e
T 25.20 wia fe.m. @1 9m ?

52,

(1) 2:3

(2) 3:4

3) 5:3

4 1:3

(5) =9 =@ 2 A
TNAVH E4

("ﬁn. I

51.

52.

A started n husiness with T 63,000 and is
Joined afiepwards by B with T 1,068,000 Alter
how many months did B Join il the prafits at
the end of the year are divided equally 2

(M 4 63 ooo \o o2
08 2, fa};gé; =
. e Tt WS
]
3] o6 %Sg V) 9 2
1) 3 f'/f/'f
(5) Not mtﬂ“ﬂj“ﬂ-

———

The L.C.M. of three different numbers is 120.
Which of the following cannot bhe their
HCFE.?
(1 12
(2) 24
3 35
4 8
(5) Notattempted
In what ratio, rice at ¥ 28.80 per kg and rice
at ¥ 22.80 per kg be mixed to get a mixture
worth ¥ 25.20 per kg ?
WM 2:3 1B E° h OF =
\‘ /
(2) 3:4 1% 20
S
3 5:3
{ l 3 . Eﬂ &’i Gﬂ
L
4 1:3
(5] Not attempted

oy spACE FOR ROUGH WORK
2w el @ fAe 2 /S q%%-“_‘]

L% =y

. . O it
1% 4 = 7
& "
1 1A
:5:_'__#_,,; E’ﬁ* \2-
A e .-

CE Scanned with OKEN Sranner


Guest
Rectangle


bk

53. uﬁ (a+ b) & 10% ,{“..h'ﬂ'ﬂﬁu",,‘ il n
(1} 5:2
2] 2:3
3 3:2
4] ] :2
(5) I oA
2 8,000 ¥ T 10% i TG = W frey
=657 0,061 B ST, Tl wA Wi SHE Haifem
T d?
n 1l
(1) 3
2 2l
(2) 5
3 21 g
(3) 5
y ihe
(4) 3

Am T 3 2, aa dd 5 A AT I % U

2% e ) Fer i o w fad e 9
3 1 A, aa smw e 1 fasd 1 g R

63,

I110% of (n+b)=50% of (a=b), thena : by

M 5:2 C{"l'b'ﬂ’IE_ = a-b "E/E_
(2] 2:3 o
. » aib —a-+tb= S
@ 3:2 o b
(4 1:2 b £

[ S :L__..
(5}  Not attempted e—

In how many years will a sum of Z 8,000 at
10% per annum compound interest,
compounded semi-annually become 20,261 2

(1 15 years
Sﬂnn cr
l
2 3 Years
: kw
(3) 25 years ..-—‘:l—
Yy |
1 | o
4) 13 years ﬁ'-g_r
..-"'"JH'.
(5) Not attempted

A solid metallic cylinder of base radius 3 em
and height 5 cm is melted to form cones, each

of height 1 cm and base radius 1| mm. The
a1 ViF i #) e number of such cones is
(1) 1350 (1) 1350
1500 (3 13500
(4) 45() ‘) 150
(5) T T 2

‘ (5)  Not attempted
TNAVH/E4 ¥ @12 @ $10 7err | SPACE FOR ROUGH WORK Page 14
€1 pl1a eyt
ha
8000
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g6.

select the alternative which best describ
the underlined idiomatic expression.

L6

you may rush from pillar to post, but yoy

stand no chance of getting what you want
without hard work.

(1) rush in all directions and suffer mych
harassment

(2) o toall post boxes and post offices
3 o to many offices and post lettere
(4) bevery busv

(5) Not attempted

57. Choose the correct alternative to improve the
underlined part of the following sentence. If
no improvement is required, your answer js
(3).

You will face many defeats in life but never
let themselves be defeated .

(1} yourself be defeated

(2) vourself be defeating

(3) No improvement

(4]  themself defeated

(5] Not attempted

S8. Fill in the blank with correct form of Verb.
Time and tide for none.
|:1‘] waited
2)  waits
(3] waiting
4)  wait
(5} Not attempted

TNAVH 7

59,

61.

>t @1 o feru 22 / SPACE FOR ROUGH WORK

Picy
5
Out the correctly spelt word,

i)

1““1|}t‘::1't'lll‘.'lllf"-

2) tempastuous
(3) tempestus
4 tampestuous

(5)  Not attempted

Pi::k out the antonym of the underlined word
In the following sentence.

He was afraid of losing the match.

(1) nervous
(2)  shaken
(3) confident
(4) hesitant

(5) Not attempted

Pick out the part of the sentence which has
an error. If there is no error, your answer is

(3)-

The property / was divided /

(A) (B)
among the two brothers
(C)
(1) (B8]
@ (©

(3) Noerror
(4 (A)

(5) Not attempted

Page 15
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62. Choose the nl"—'"""t'u:‘ a

Rk B e
i -

- g ol e ]

the gi\"ﬂﬂ- ﬂﬂtmﬂ into &

——

Ly t\l-_
He told the boy not 19 &%

=g Ty . = L
(1) He said to the boy. Dont s e

(2) He said to the bov. “‘DidnY s thees

Kearrange the following parts of a seq,,,,
labelled as PQRS to make a mean iy,
srntence. .

" - optimism is emntil}l
O - it is also the

R - foundation of true progress

(3} He said to the boy., “Don't s hews* S-to “':'hif“m':m and
R e (I'~ PQRS
(4) He said to the boy, "Ln==® &2 hee -
{21 PSQR
{5) Not attempted i
3. ROQSP
t4) OQSRP
63. Choose the correct passive voise forn of o
following sentence. i5) Not attempted
He was writing a book.
Find out the synon r: laim’
(1) ﬁbﬂﬂk“‘ﬂib:hguﬁr_—;';?m ) vm of ‘proclaim’.
(1) advance
(2)  He has written 2 bosi
[2}  declare
(3) A book was being wrtes = =i
{3 license
13 A book is written b -
2]  progress
(5] Not attempted
{5)  Not attempted
TNAVH/E4
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T P13 o 3y zirer 7 B2 AT T £
2 ¥4 (T —
@ ™ (2) w0
o 5 ) Ty e
) BT S arwH
- ; (5) 3% & =mwA
g, Frefatan fa e 5 fifm-fadm w5 wim
i faamat 72. 't g gt ¥ fom wENE IR IR AR R
o - wa
I 2
s o tom
iffpiiee 14: firtm
‘Em . -
. SR (5) 3¥ @ <
A . : E‘iﬁﬂltr
™ fﬁ:mwmt 73. ‘9%’ e | T4 A SE9E I0GF = ¥ -
(1 :
(1) ==
:i: ﬁ (2) w
(@ (3)
(5) I @ o = @) Wl
(5) I T TN = wA
69. "W F Wil STl M via W fag'! | i o
waff SugE A4 € 74. 'SR TR T GEIGF IR TEAE 7=
(1) foee = TRt SafE H FEHA T E, W H ()
| (2) T
2) zﬂﬁaﬁmmtﬂﬂ{@ﬁmﬁ' @)
(3) Anit dnft @ S & A fag T o wwd| 4
(9) ST ST S & AT A A E (5) I T T =
(5) IR & Awd

| 7s. few T AT ¥ o fawes | famm o = wiivrs
Y Se————_——EE R R D s vsgik?

it siv = waif S9g AT E 1) WERAMBA
(1) wo+3a (2) T, A e SR wdan T w1 Ewa
() wEeE (3) B AE Y 37 FE T e
(3) e+ i @) 0w T
4 weIEE (5) I A A
?H'E“E I AE ZA A1 _ﬁaﬁm‘aﬁun ROUGH WORK Page 17
VH/Eq
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76. iy i fen faa ¥ ferant ©te frerg § 7 76. In which district of Haryana is Tilvar Lak.
located ?
LU (1)  Ambala
(2) 9FE (2) Panipat
(3) Twmw (3 Rohtak
) e (4)  Kaithal
5)  Iw A a1 T {5) Not attempted
77. iAo T # el (F) T SEmm § 77. How many (approximately) Village Panchavats
(1) 5500 - 6000 does Haryana State have ?
(2) 6000 - 6500 (1) 5500 - ﬁggﬂ
(3) 6500 F ivF (2) 6000 -6500
- 5500 13} more than 6500
e Al (4) 5000 - 5500
b)) S (5) Not attempted
L = A fq“:ﬂ ey 78. In which yvear was “Deenbandhu Harvana
I* = ?j? . Gram Uday Yojana” launched in Harvana ?
(1) 2017-18 (1) 2017-18
2) 2011-12 2) 2011-12
(31 2019-20 3) 2019-20
(%) 2015-16 |&: 2015-16
(5) I ¥ = (5] Not attempted
79. E AW e =ered form &2 79. Where is the Heritage Transport Museum
(1} Team situated ?
(2) Fm 41)  Gurugram
(3) T [2} Kurukshetra
4 e {3) Karnal
) == (4) Rewari
(5) 3 & - (5) Not attempted
80. ¥H ¥ ¥ ®1 W I g wfogen 4 wgw | 80. Which scheme launched recently focusses on
fafasdism 3in Tl WO T A = $7 crop diversification and water conservation in
(1 #4712 Harvana ?
.] forem (1) Mera Pani Meri Virasat
(2) @ wf= shar (2) Jal Shakti Abhivan
(3) 99 S5 HEE A (3) Pradhan Mantri Samman Yojana
(4) 9 9z s v (# ;ﬂ Drop More Crop
(5) T T & e 3] ot attempted
2 - o 81. How many Lok h '
81. = ¥ fad i a : U = Han'a;a ; Sabha constituencies are there
(1) 10 ) iﬂ'
o) ST T e (5)  Not attempted
TNAVH/ E4

T B 3 ferw 7em=1 / SPACE FOR ROUGH WORK
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(1) e
2) wiEEG
5) I el & =
@ fcaron T 8 T PRI 0 vl ey s
femt?
(1) L IGIEG]
(2) fam=m
(3) fuar
(4) HAEMA
(5) S e & e
8. ﬁ@- 1 ﬁmegwﬁ@ -
gffem forei & my gofem #ifa
=1 Tt -1
(a) —HIEETR (i) T
(b) TEAH (ii) =t gEd
(c) TEw (i) W
(d) TR (iv) %
73 f2u 710 T2 F I9EM FLA T FE IH A
(1) (a)-(ii), (b)-(iv), (c)-(i), (d)-(i1)
2)  (a)-(iv), (b)-(ii), (c)-(ii), (d)-(i)
3)  (a)-(iii), (b)-(iv), (e)-(id), (d)-(i)
B (a)-(iv), (b)-(iii), (c)-(i), (d)-(i)
(5) IR TEI &N 9mEd
85. Wam  gleA, forery fcamon #1 o T & w9 A
i fae, far = g20 7
(1 1962
2) 1965
(3) 1966
4 1961
5 = & e
TNAVH /Eq

B2,

83,

84,

85.

Where is Chor Gumbad situated ?

(1)

(2) Faridahacl

B Namaul

M Palwa

15) Nt ;||||-|n|1rr'||

.
Gurugram

Where is the most important Centre of
durrie' making located In the State of
Haryana 7

Al Panipat

(2)  Sirsa

(3]  Bhiwani

(4}  Sonipat

(5) Not attempted

Correctly match the Administrative Divisions
in the List - I with the Districts included in

the List - II.

List -1 List - I1
{a) Faridabad, (i) Panipat
(b) Gumgra’ri//z—hil Charkhi Dadn
() Rohtak — - .(iii) Mahendragarh
{d) Karnal L . tiv) Nuh

Select the correct answer using the code
given below :

(1) (a)-(iii), (b)-(iv), (c)-(i). (d)-(11)

@ (a)-(iv), (b)-(iir), {c)-fi), (d)-(1)

(3) (a)-(iii), (b)-(iv), (c)-(ii), (d}-(i)

(4)  (a)-(iv), (b)-(iii), fc)-(i), (cl)-(ii)

(5) Not attempted

The reorganisation of Punjab that established
Harvana as a full-fledged State, took place in
which vear ?

(1) 1962
(2) 1965
(M 1966
(4) 1961
(35) Not attempted

2 Tl @ e T T SPACE FOR ROUG

HWORK Page 19
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86. Efamm ¥ ufy ard taften j ey ! el A | 86, Where in Harvana ‘Geeta Jayvanh Ma hot san
MR is celebrated every year ?
(1) Surajkund
(1) ToF=
(2) fiEm (2) Pinjore
(3) Sultanpur
(3 e
t4: T (4 Kurukshetra
(5) = & e (5) Not attempted
87. w3 eframm = MELRIRE #ir e = Thwfa % | 87. Whois known as the Shakespeare of Harvana
FOH A AE? and Survakavi of Harvana ?
(1) vfea Wi (1) Pt. Mangeram
(2) @wiEE (2) Banshilal
(3) TmiEE=M™ (3) Ramsingh Nai
(4) == T e (44 Dada Lakhmi Chand
(5) 3 T &N = % (5) Not attempted
88, FAMMI T T NI FE? 88. Which is the State Bird of Harvana ?
(1) (I grfae) (1) Great Hornbill
(2) wFaAE T=TE {2) Indian Bustard
(3) TemmeE gFa (3) Himalavan Monal
(4) vam e () Black Francolin
(5) S ARl = =med (5) Not attempted
89, T Hil Yo, AW 3N |IE =8 Haen | 89. ;m‘n-'l;:rc i:; the Nat;n:}.a] Acadetm-.' m!{ifﬁmm'
el famg? ndirect Taxes and Narcotics locater
(1) TEas (1) Rohtak
2) fm () Hissar
(3) IEER (3) Faridabad
(4) dEFE (4) Panchkula
(5) I T &N =wa (5) Not attempted
90. @M =1 TEIHF S0 oI el FAAI € 90. Which is the most populous city of Harvana »
(1) TEH (1) Gurugram
(2) HIEER (2) Faridabad
(3) TEFEn (3) Panchkula
(4) FiEGE {4) Rohtak
(5) Not attempted
(5) IR T &N e
TNAVH/E4 % 19 @ ferp 2+ / SPACE FOR ROUGH WORK Page 20
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21.

o1. Mata Mansa Devi temple 18 home to which
A el €7 form of contemporary art of Harvana ?
(1) @l we B Worli Art
|2| f‘qﬁ{ fﬁﬂ' lil Bhitj Chitra
ARl (3)  Dhokra
el (4)  Pattachitra
(4 5 3 (5} Not attempted
aed
(5) FAE &N
02, Friter i T e Fi 92. Consider the following i:atemenfsl; .
’ fearm Sﬁqq i T (2] A Palice Range in Harvana is hea v
(@) A @ w1 vl o i i an officer not below the rank of
e @ %X ﬁ-ﬂ stfvremTl 1 #m 2 Additional Director General. |
(b) mﬁﬂﬂﬂﬁﬂﬁﬁl i There are five Police Ranges in
ﬁﬁ'ﬂ-ﬁ’lﬂ‘fﬁ "ﬁtff? Wh :ﬂr}'ﬁ’;ﬂ- bove statement/s is/are
» I'h abov / 5/
(1) & (b) o |r:ﬂ;!' the
@ (a) o) (1) jonly
(3) A7 (a) 3 A (b) (2) Both (a) and (b
(4) FF (a) (3) Neither (a) nor (b)
(5) I T & awa (4) (a) only
3 = {35) Not attempted
93. wEEEN ! gz | wrAmm | wrA § FE-m e
€2 93. In terms of population size, Harvana comes
(1) 17 at what rank in India ?
2) 18 H 17
8 & o
{ (3) 19
(5) I T A @) 16
94, Frefafaa # # efmon = Frmm foe T90m F (5}  Not attempted
by mﬂ bk & 94. Which one of the following districts of Harvana
(M does not share border with Rajasthan 2
() firmar (4 Rohtak
(3) wERTE (2) Bhiwani
(4) o . (3) Mahendragarh
-ed (4) Sirsa
il ek . (5} Not attempted
os. T T & A vivre ga S e oA fiE sl
=+ FE 'ﬂ:ﬂiﬁl‘ﬂ f&m 3w 1857 - | Hirs & 94 & | 95. Where did Rao Tula.ra.:_n. along with Ran Gopal
f&m? Dev and Rao Dhan Singh organise the Ahirs
and fought.against the British in 1857 7
() (1) Ambala
) ¥ {2) Jhajjar
(3 o= (3] Rohtak
(#) e e | Nasibpur fort
(5) W T o e {5) Not attempted
THAVH / E4 % mrd @ (oo Tama | SPACE FOR ROUGH WORK Page 21
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mmrﬁﬁmﬂ (w}ﬂ"“ﬁﬁﬁ#ﬂm

e e s S T S — ey

following statements about Groy,
06. 96. Lnn-mllu II'.r'It: {r:::'uluri (GSDP) :
mmw tate Domest Lenn tha -
gﬁmﬂa"l@ﬂ"ﬁ A & S @ (n) GSDP of Haryana is less than that g
2 ? Ponpe. less tl Lk
: W AATS * laryana is les 1an that of
)y  GSDP of |
by  Eftam * RILUEEIRY Rajasthan.
FALI Which of the above statement/s is/are
Srerfifign © & WA/ R WA R R correct ?
(1) A () (1) (b)only i
(2] Both (a) and (b
:i: Ln:';f:llt‘g.fjﬁ v) (#)  Neither {a) nor (b)
=3 (4)  (a) only
(4) ﬂ'{sifﬂi"-n - (5) Not attempted
5 T
- - ‘| 97. The only surviving steam Loco Shed in India
o7, VR UF WIS WHiEA A we) 1T F amfeg ) v NS
: isin:
b g (1) Ambala
(2) wwE (2) Sonipat
(3 T (3) Rewari
(4) EE (4) Panipat
(5) T oW = {5) Not attempted
o8, fr=fafea § | e @1 &= famn g3 mﬁ’ 98. Which one of the following is the
feme? northernmost district of Haryana ?
d=FEn (¥ Panchkula
l;‘ W (2) Kurukshetra
(2) . (3] Kaithal
(3) . (4) Yamunanagar
(4) FTAR . (5) Notattempted
(5) =¥ 6 & e
99. freifefaa syl v faam =i - 99, Consider the following statements :
) . ) (a) Haryana has never won Ranji Trophyv.
(a) R II?TUHT ;’I‘ﬁﬁ‘ﬂ AE et | (b} Haryana has won Irani Trophy once.
(b)  TFEm 3 wEwEn S g s ) _ Which of the above statement/s is/are
TR A FE AR TEA R correct ?
(1) &= (b) E; g:i ol:ﬂ}' .
. : oth (a) and (b)
() (a) %W (b) ZF 3 Naith .
(3 A7 (a) FAE (b) R e
4) =3 qgfal_ . (5)  Not attempted
(5] 297 7€ 270 = !
vhrrm ¥ fAEiEfEa fai A 20 100. Who among the following plavers from Harvana
o = w: ﬁﬁﬂmm'ﬁiza 0 won Major Dhyan Chand Khel Ratna Award
U 20207
(1) oo s (1) Vinesh Phogat
(2) % ufer E‘ﬁ&ﬂ"z_\j (2] Deepa Malik
(3) qﬂfrﬁ FHn (3} Sushil Kumar
fara= fri 4 Vijender Singl
:;: T ;ﬂm;m - :ﬁ:: N:Jn ul'lr:lll.pllltrl ‘
.ﬂn‘ﬂl == 'ﬂDD-
TNAVH/E4 2% @1l s fero zemet | SPACE FOR ROUGH WORK Page 22
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